

DEPARTMENT (



Accessories									
		Year	Year	US	CAD				
 Item #	Description	Issued	Retired	SRP	SRP				
56.54937	"Trick Or Treat Kids" set of 3	1998	2005	\$33.00	\$49.50				
56.54973	"Costumes For Sale" set of 2	1998	2002	\$60.00	\$96.00				
56.54982	"Preparing For Halloween" set of 2	1999	2002	\$40.00	\$64.00				
56.55016	"Treats For The Kids" set of 3	1999	2002	\$33.00	\$53.00				
56.55117	"Lighting The Jack-O'-Lanterns" set of 3	2000	2003	\$32.50	\$50.50				
56.55148	"Halloween Hayride"	2001	2006	\$45.00	\$72.00				
56.55149	"Captain Black Bart's Ghost"	2001	2002	\$18.00	\$29.00				
56.55150	"Haunted Tree House"	2001	2006	\$45.00	\$72.00				
56.55185	"Bobbing For Apples"	2002	2004	\$22.50	\$36.00				
56.55186	"Halloween Kids" set of 3	2002	2004	\$27.50	\$44.00				
56.55189	"Halloween Dance"	2002	2004	\$85.00	\$136.00				
56.55192	"Strangers Brew"	2002	2006	\$17.50	\$28.00				
56.55198	"Campbell's Trick-Or-Treat"	2002	2003	\$17.50	\$28.00				
56.55200	"Gathering Pumpkins"	2002	2004	\$30.00	\$48.00				
56.55201	"Costume Parade"	2002	2003	\$50.00	\$80.00				
	Limited To Year Production								
56.55203	"Building The Scarecrow"	2002	2003	\$32.50	\$52.00				
	"Lmited To Year Production								
56.55238	"Lighting Up Halloween"	2003	2006	\$27.50	\$38.50				
56.55240	"A Gravely Haunting - 2004" set of 2	2003	2004	\$22.50	\$31.50				
56.55241	"Canine Trick-Or-Treaters" set of 2	2003	2005	\$20.00	\$28.00				
56.55244	"Pick Your Own Pumpkin"	2003	2006	\$30.00	\$42.00				
56.55245	"Haunted Harvest"	2003	2005	\$17.50	\$24.50				
56.55246	"Creative Carvings"	2003	2005	\$32.50	\$45.50				
56.55248	"Forever On Guard"	2003	2005	\$17.50	\$24.50				
56.53156	"Haunted Coal Car" set of 3	2004	2009	\$85.00	\$110.00				
56.55257	"Haunted Tower Tours"	2004	2006	\$35.00	\$44.00				
56.55270	"Gravely Haunting - 2005"	2004	2005	\$20.00	\$25.00				
	Limited To Year Production								
56.55272	"Can't Wait For Christmas" set of 2	2004	2006	\$20.00	\$25.00				
56.55273	"Happy Haunting"	2004	2006	\$22.50	\$28.00				
56.55274	"Brew Ha-Ha"	2004	2007	\$15.00	\$15.00				
56.55275	"Carmamel Apple Stand"	2004	2007	\$27.50	\$27.50				
56.55276	"Black Kittens For Sale"	2004	2008	\$10.00	\$10.00				
56.55277	"Halloween Hot Rod"	2004	2009	\$18.50	\$24.00				
56.53213	"Haunted Taxi"	2005	2008	\$17.50	\$17.50				
56.54701	"Topping Off The Scarecrow"	2005	2007	\$17.50	\$17.50				
56.54702	"Dr. Lunatic, The Mad Scientist"	2005	2008	\$17.50	\$17.50				
56.54703	"Bats In My Belfry!"	2005	2007	\$17.50	\$22.00				

56.54705	"A Gravely Haunting - 2006"	2005	2006	\$25.00	\$25.00
56.54706	"Grimsly's Garage"	2005	2011	\$45.00	\$59.00
56.54707	"Building For Frightul"	2005	2007	\$20.00	\$20.00
56.54708	"Little Space Explorers"	2005	2007	\$18.50	\$23.00
56.54709	"A Vampire's Best Friend"	2005	2007	\$15.00	\$15.00
56.54710	"Madame Zelda At Work"	2006	2008	\$18.50	\$18.50
56.54711	"How About Our Lay-Away?"	2006	2008	\$22.50	\$22.50
56.54713	"Candy Kids"	2006	2008	\$22.50	\$22.50
56.54714	"A Gravely Haunting - 2007"	2006	2007	\$25.00	\$25.00
56.54715	"Dead Creek Mill Delivery"	2006	2009	\$35.00	\$46.00
56.54716	Getting Candy For Halloween"	2006	2008	\$17.50	\$17.50
56.54717	"Grimsly's Tool Shed"	2006	2009	\$35.00	\$46.00
56.53227	"Ship Of Sea Phantoms"	2006	2008	\$75.00	\$75.00
56.53229	"Halloween Festival"	2006	2008	\$75.00	\$75.00
56.53240	"Campfire Scary Stories"	2006	2008	\$18.50	\$18.50
56.53241	"Halloween Festival Billboard"	2006	2008	\$25.00	\$25.00
56.53242	"Creepy Lighted Front Yard"	2006	2008	\$70.00	\$70.00
56.53243	"Skeleton Crew"	2006	2009	\$25.00	\$33.00
56.53245	"Halloween Monsters Rock Band"	2006	2008	\$32.50	\$32.50
56.53246	"Halloween Accessory Set", set of 5	2006	2008	\$20.00	\$20.00
800216	"Time's A-Wastin"	2007	2017	\$22.50	\$29.50
799976	"A Gravely Haunting, 2008"	2007	2008	\$25.00	\$25.00
799977	"Autographs With Dracula" set of 2	2007	2009	\$32.50	\$42.00
799978	"A Grimsly Family"	2007	2010	\$29.50	\$38.00
799979	"Come In If You Dare"	2007	2010	\$45.00	\$59.00
	Halloween 10th Anniversary				
799980	"Photos With Frankenstein"	2007	2009	\$32.50	\$42.00
799981	"Little Ghouls' Field Trip"	2007	2009	\$29.50	\$38.00
799982	"Time To Feed The Monsters"	2007	2009	\$17.50	\$23.00
810800	String of Jack-o-lanterns Lights	2008	2015	\$15.00	\$19.00
810640	"Haunted Rails Crossing Sign"	2008	2014	\$22.50	\$27.00
810641	"Halloween Park Bench	2008	2014	\$5.00	\$6.00
804456	"An Ax To Grind"	2008	2010	\$22.50	\$29.50
805026	"Halloween 10th Anniversary Sign"	2008	2008	\$20.00	\$39.00
807301	"A Grave Undertaker"	2008	2009	\$22.50	\$29.50
807303	"Made For Each Other"	2008	2010	\$30.00	\$39.00
807304	"The Old Hermit In The Woods"	2008	2010	\$18.50	\$24.00
807306	"A Gravely Haunting, 2009"	2008	2009	\$32.50	\$43.00
	Limited To Year Production				
807308	"Go Team! Trick-Or-Treaters"	2008	2009	\$30.00	\$39.00
807302	"Grimsly's Family Crypt"	2008	2010	\$37.50	\$49.00
810637	"Graveyard Shift"	2008	2010	\$27.50	\$36.00
810639	"Haunted Rails Water Tower"	2008			\$52.00
810636	"The Grim Reaper"	2008	Current	\$18.50	\$24.00
810634	"Lazy Bones"	2008	2010	\$32.50	\$42.00
809362	"Animated Haunted Wall"	2010	2013	\$55.00	n/a

_	811779	"The Zombies"	2010	2015	\$32.50	\$39.00
	808998	"Rusty Scares Up A Deal"	2010	2011	\$18.50	\$22.00
	809002	"Deranged Chickens"	2010	2010	\$23.50	\$28.00
	808999	"Midnight's Last Ride"	2010	2019	\$25.00	\$30.00
	809361	"Don't Forget To Tip Your Server"	2010	2015	\$22.50	\$27.00
	809004	"Halloween Kittens"	2010	2010	\$25.00	\$30.00
		Limited To Year Production				
	809380	"Chilled To The Bone"	2010	Discontinued	\$25.00	\$30.00
	809381	"Made To Be Wild"	2010	2011	\$28.50	\$34.00
	809390	"Lady & The Vamp"	2010	2011	\$38.50	\$34.00
	4020271	"Cursed Fountain"	2011	2014	\$30.00	\$36.00
	4020238	"Git Offa My Train"	2011	2014	\$18.50	\$22.50
	4020239	"Count Dogula"	2011	2011	\$32.50	\$40.00
	4020237	"Wilhelmina And Lucille"	2011	2011	\$22.50	\$27.00
	4020233	"Halloween Clock Tower"	2011	2011	\$35.00	\$35.00
	4020234	"Batminton"	2011	2012	\$27.50	\$33.00
	4020235	"Two-Ply Fun"	2011	2012	\$25.00	\$30.00
	4020236	"GrossPumpkin Guts"	2011	Discontinued	\$28.50	\$34.50
	4020240	"Headsless Horseman"	2011	Current	\$35.00	\$42.50
	4022432	"Rickety Railroad Platform"	2011	2014	\$55.00	\$66.00
	4022812	"Trick Or Treating At The Castle", set of 2	2011	2012	\$32.50	\$39.00
	4022813	"Disney Dress Up"	2011	2012	\$28.50	\$34.50
	4025395	"Whack A Zombie"	2012	2014	\$75.00	\$90.00
	4025403	"Sell Your Soul, Hearse"	2012	2014	\$22.50	\$27.50
	4025348	"Are You Afraid of the Big Bad Wolf?"	2012	Discontinued	\$22.50	\$27.00
	4024040	By The Light of the Moon	2011	2015	\$25.00	\$31.50
	4025345	"Steady Killer, Steady"	2012	Discontinued	\$22.50	\$27.00
	4025347	"Out For A Bloody Good Time"	2012	Discontinued		\$30.00
	4025349	"Hilda"	2012	2012	\$17.50	\$21.00
	4025346	"Sideshow Superstars"	2012	2012	\$32.50	\$39.00
	4025344	"Mickey's Treasure Trove"	2012	2012	\$27.50	\$33.00
	4025243	"Donald's Secret Treasure"	2012	2012	\$32.50	\$39.00
	4025400	"Haunted Signs", set of 3	2012	Discontinued	\$22.50	\$27.00
	4025397	"Grave Escape"	2012	Discontinued		\$21.00
	4025412	"Who Let The Dogs Out?", set of 3	2012	Discontinued		\$24.00
	4025399	"Haunted Delivery"	2012	Discontinued		\$18.00
	4025401	"Bone To Rock" (lit accessory)	2012	2014	\$35.00	\$42.00
	4025408	"Here Kitty, Kitty"	2012	2015	\$20.00	\$24.00
	4025350	"Hold Still"	2012	2012	\$27.50	\$33.00
	4028712	"Sleepless Walking"	2012	Discontinued		\$21.00
	4033847	"Evil Pumpkin Lampposts"	2012	2014	\$27.50	\$33.00
	4033852	"Halloween Sisals" set of 2	2013	2014	\$25.00	\$30.00
	4033853	"Midnight Sisals" set of 2	2013	2014	\$25.00	\$30.00
	4033854	"Haunted Branches, Purple"	2013	2014	\$30.00	\$36.00
	4030763	Bringing Home the Winner	2013	2015	\$28.50	\$35.50
	4030767	"Beware of the Bloodmobile"	2013	2014	\$27.50	\$33.00
	4030764	"Fire Burn & Cauldron Bubble"	2013	Current	\$25.00	\$30.00
	4030769	"Rats! There goes my Grain"	2013	2014	\$30.00	\$36.00
	4030768	"Wanted: Dead or Alive"	2013	2014	\$27.50	\$33.00

4030780	Funny Bones	2013	2015	\$27.50	\$34.50
4030785	Finger Food Tonight	2013	2015	\$18.50	\$23.50
4030788	"Straight Train Track", set of 2	2013	Discontinued	\$27.50	\$33.00
4030789	"Curved Train Track", set of 2	2013	Discontinued	\$27.50	\$33.00
4030765	"Speelbound By Hypno Girl"	2013	Discontinued	\$25.00	\$30.00
4030782	"Blue, Brown or Hazel"	2013	2014	\$18.50	\$22.50
4030766	"Let's Have A Little Fun"	2013	2016	\$20.00	\$24.00
4035590	"No One Rides For Free"	2013	2014	\$20.00	\$24.00
4036597	"Is Anybody Watching?"	2014	2014	\$26.50	\$32.00
4036588	"Black Bart Knife Thrower" (animated)	2014	2015	\$60.00	\$72.00
4036603	Haunted Hearse	2014	2017	\$59.00	\$83.00
4036589	"Cats, Rats & Bats Shooting Gallery" (animated)	2014	2015	\$75.00	\$90.00
4033848	String of 12 Skull Lights	2013	2015	\$20.00	\$25.00
4033849	Lit Pumpkin Luminaries	2013	2015	\$20.00	\$25.00
4038882	"Animated Skulls"	2014	2014	\$75.00	\$90.00
4038883	"Jack-O-Lantern Yard" (Lit)	2014	2016	\$50.00	\$60.00
4038886	"Bone Again"	2014	2015	\$27.50	\$33.00
4038887	"Rest In Peace, 2014" (Lit)	2014	2014	\$55.00	\$66.00
4038888	"Creepy Creature Jacks"	2014	2016	\$32.50	\$39.00
4038889	"Haunted Water Tower"	2014	2016	\$50.00	\$60.00
4038891	"Creepy Creatures Spiders, set of 2"	2014	2015	\$22.50	\$27.00
4038892	"Creepy Creatures Cats"	2014	Discontinued	\$22.50	\$27.00
4038893	"Creepy Creatures Bats"	2014	2015	\$27.50	\$33.00
4038894	"Creepy Carnie"	2014	2015	\$22.50	\$27.00
4038896	"Creepy Creatures Rats"	2014	2015	\$20.00	\$24.00
4038898	"Boneyard Luminaries"	2014	Discontinued	\$25.00	\$30.00
4038899	"Boneyard Lantern"	2014	Discontinued	\$27.50	\$33.00
4036596	Ink Scare	2014	2017	\$25.00	\$35.00
4036598	Building A Better Mousetrap	2014	2015	\$20.00	\$25.00
4036599	For Doom the Bell Tolls	2014	2015	\$18.50	\$23.50
4036600	Another Prince Croaks	2014	2017	\$26.50	\$37.00
4038890	Bad Moon Rising	2015	2015	\$22.50	\$28.00
4038900	"Welcome To The Boneyard" Sign	2014	2015	\$12.50	\$15.00
4038901	"Boneyard Mailbox"	2014	2015	\$12.50	\$15.00
4038902	"Boneyard Birdhouse"	2014	2015	\$12.50	\$15.00
4038903	"Boneyard Do No Evil Lights", set of 3	2014	2016	\$30.00	\$36.00
4038904	"Boneyard Bench"	2014	2016	\$12.50	\$15.00
4038905	"Halloween Festival Street Lamps", set of 2	2014	2015	\$27.50	\$33.00
4038906	"Halloween Ghost Street Lamps", set of 2	2014	2015	\$30.00	\$36.00
4038907	"String of Bat Lights"	2014	2016	\$20.00	\$24.00
4038908	"Creepy Town Lit Billboard"	2014	2016	\$42.50	\$50.00
4038913	"Scary Pumpkins Lit Tree"	2014	Discontinued	\$30.00	\$36.00
4038914	"Purple Bare Branch Trees", set of 3	2014	2015	\$17.50	\$21.00
4038915	"Green Bare Branch Trees", set of 3	2014	2015	\$17.50	\$21.00
4038916	"October Glow" Tree	2014	2015	\$25.00	\$30.00
4038917	"Halloween Lit Sisals", set of 2	2014	2015	\$40.00	\$48.00
4038918	"Scary Topiary"	2014	2014	\$25.00	\$30.00
4042419	"Testin' The Toxins"	2014	Discontinued	\$20.00	\$24.00
4044890	"Scarecrow Fun"	2015	2016	\$25.00	\$31.50
4044885	"Black Cat Snack"	2015	2017	\$32.50	\$41.00
	www.donortmont56.com 1.800 I IT TOW	UNI (549 96	06)		

www.department56.com 1-800-LIT-TOWN (548-8696)

4044886	"Ghost Rider On The Road"	2015	2016	\$35.00	\$44.00
4044887	"Headless Harley Rider"	2015	2016	\$35.00	\$44.00
4044893	"Halloween Town Tree"	2015	2016	\$59.00	\$74.00
4044889	"Tonight's Special"	2015	2016	\$25.00	\$31.50
4044892	"Midway Punks"	2015	2015	\$22.50	\$28.00
4044891	"Painted Ladies"	2015	2016	\$25.00	\$31.50
4047545	"Cursed Mummy" (animated)	2015	2016	\$75.00	\$105.00
4047546	Buzzard Delight" (animated)	2015	2016	\$75.00	\$94.00
4047603	"Creepy Creatures Croak"	2015	2016	\$27.50	\$34.50
4047602	"Creepy Creatures Wither"	2015	2016	\$8.50	\$11.00
4047600	"Creepy Creatures Slither"	2015	2016	\$18.50	\$23.50
4047601	"Creepy Creatures Flutter"	2015	2016 Discontinued	\$18.50	\$23.50
4047605	"Boneyard Wheelbarrow"	2015		\$25.00	\$31.50
4047607	"Beware of the Boneyard, Sign"	2015	2016 Discontinued	\$12.50	\$16.00
4049320	"Haunted Crypt"	2015		φ00.00	\$68.50
4047604	"Boneyard, Bag-of-Bones"	2015		φ12.00	\$16.00
4047606	"Boneyard, Wreath and Garland"	2015	2016	\$12.50	\$16.00
4047591	RIP, 2015" 3rd in a series, dated Limited to Year of Production	2015	2015	\$55.00	\$68.50
4047592	"Kiss of Death"	2015	Current	\$27.50	\$34.50
4047593	"Flying Skulls"	2015	2015	\$27.50	\$34.50
4047596	"Hazardous & Wasted"	2015	2016	\$30.00	\$37.50
4047597	"Haunted Totem Pole"	2015	Discontinued	\$25.00	\$31.50
4047595	"Watch Your Step"	2015	2015	\$7.50	\$9.50
4038890	"Bad Moon Rising"	2015	Discontinued	\$35.00	\$44.00
4047617	"Lit Scarecrow Lamps"	2015	2016	\$35.00	\$44.00
4047621	"Waiting On Lunch, Street Lights"	2015	2016	\$30.00	\$37.50
4049322	"Pie In The Face Escape"	2015	2016	\$20.00	\$25.00
4049323	"Forced Fit"	2015	2016	\$40.00	\$50.00
4049324	"Full Moon Ride"	2015	2016	\$35.00	\$44.00
4047625	"Halloween Candy Corn Trees"	2015	2016	\$22.50	\$31.50
4047627	"Twinkle Brite Halloween Shrubs"	2015	2016	\$45.00	\$63.00
4051014	Black Widow Strikes Again	2016	2017	\$25.00	\$35.00
4051013	Ghastly's Night Out	2016	2017	\$25.00 \$25.00	\$35.00
4051013	Witch Watch	2016	2017	\$23.00 \$30.00	\$42.00
4051021	Witch Trap	2016	2017	\$28.50	\$40.00
4051015	No Hocus Pocus Here	2016	2017	\$35.00	\$49.00
4051020	Ride Away Bride	2016	2016	\$30.00	\$42.00
4051019	Mummimizing My Ride	2016	2016	\$30.00	\$42.00
4051017	Who's The Dummy Now?	2016	2016	\$28.50	\$40.00
4051016	Party For Treats	2016	2017	\$32.50	\$45.50
4054265	Scary Jack-o-Lantern Street Lamps	2016	Discontinued	\$27.50	\$38.50
4054266	Lit Stacked Jack-o-Lanterns	2016	Discontinued	\$22.50	\$31.50
4054264	Lit Pumpkin Engravings	2016	Discontinued	\$20.00	\$28.00
4054267	Lit Halloween Yard Décor, set of 3	2016	Discontinued	\$27.50	\$38.50
4054271	Autumn Splendor Trees, set of 2	2016		\$18.50	\$26.00
4054268	Autumn Trees, set of 8	2016	Discontinued		\$21.00
4054269	Purple Sparkle Bare Branch Trees	2016	2016	\$12.50	\$17.50
4054209	Skull Tree	2010	Discontinued		\$42.00
-1007210		2010		ψυυ.υυ	ψ <del>-</del> Ζ.00

4054260	Boneyard Gate	2016	Discontinued	\$22.50	\$31.50
4054250	Rest In Peace, 2016 (Lit Accessory)	2016	2016	\$50.00	\$70.00
4054251	Boneaventure	2016	2016	\$22.50	\$31.50
4054262	Boneyard Corner Fence	2016	Discontinued		\$14.00
4054263	Boneyard Spooky Signs, set of 2	2016	Discontinued		\$21.00
4054261	Boneyard Straight Fence, set of 2	2016	Discontinued		\$21.00
4054257	Creepy Creatures Dog House	2016	Discontinued		\$21.00
4054259	Creepy Creatures Venus Fly Trap	2016	Discontinued	\$15.00	\$21.00
4054256	Angel of Death	2016	Current	\$22.50	\$31.50
4054254	Black Cat Bench	2016	Discontinued		\$17.50
4054255	Noah Scape Grave	2016	Discontinued		\$26.00
4054248	Lit & Animated Fright Flight	2016	Discontinued	φ00.00	\$91.00
4054983	Scary Ghost Catcher	2016	Discontinued		n/c
4054978	Midnight Mischief	2016	Discontinued		n/c
4054977	Don't Be A Scaredy-Cat!	2016	Discontinued	φ=0.00	n/c
4056709	Tick Or Treating On The Lane	2017	Discontinued	\$32.50	\$45.50
4056710	Scary Skeleton Stories	2017	Current	\$37.50	\$52.50
4056706	Hattie's Hats Custom Fitted	2017	2020	\$30.00	\$42.00
4056708	Scary Gravedigger	2017	2018	\$20.00	\$28.00
4056704	Poe's Perch Aviary (animated)	2017	2018	\$135.00	\$189.00
4056713	The Makings For a Sordid Evening	2017	2017	\$32.50	\$45.50
4056711	Lefty's Passion	2017	2017	\$28.50	\$40.00
4056712	Fortunato The Vulture Trainer (animated)	2017	Discontinued	φ00.00	\$119.00
4057624	Black Light Spotlights	2017	Discontinued		\$45.50
4057628	Flaming Skull Bonefire	2017	Discontinued	φ20.00	\$40.00
4057630	Boneyard Street Light	2017	Discontinued	φ20.00	\$35.00
4057623	Black Light Bare Branch Tree	2017	Discontinued		\$40.00
4057632	Halloween Multi-Color Twinkle Brite Tree	2017	Current	\$32.50	\$45.50
4057631	Lit Jack-O-Lantern Tree	2017	Current	\$37.50	\$52.50
4057633	Creepy Craggy Tree	2017	Discontinued		\$21.00
4057634	Haunted Spider Tree	2017	Current	\$15.00	\$21.00
4057618	Bone Jovi	2017	Discontinued		\$49.00
4057620	Skull Spider	2017	Discontinued		\$12.00
4057626	Rising From The Dead	2017	Discontinued		\$26.00
4057619	Hangmen Skeletons, set of 4	2017	Discontinued Discontinued		\$26.00
4057627	Spooky Graveyard Vigil, set of 3	2017		<b>QUU.UU</b>	\$42.00
4057629	Lit Pumpkin Patch Billboard	2017	Current	\$42.50	\$59.50
4057617	Spells & Potions Kiosk	2017	Current Discontinued	\$40.00	\$56.00
4057616	Toad Fountain	2017	Discontinued	φ20.00	\$35.00
4057625	Black Light Bat Cave	2017		\$47.50	\$66.50
405621	Creepy Creatures Scary Squirrels	2017	Discontinued		\$26.00
4057622	Creepy Creatures Rabid Squirrel		Discontinued Discontinued		\$17.50
4057615	Animated Nightmare	2017		\$80.00	\$112.00
4059392	The Beast Master	2017	2018	\$22.50	\$31.50
4059393	Rest In Peace, 2017 (Lit Accessory), set of 4	2017	2017	\$89.00	n/a
6000664	Harvest Gazebo Gift Set	2018	2018	\$140.00	\$195.00

	6000666	Tricky Treats	2018	2018	\$20.00	\$27.00
	6000665	Halloween Village Gate	2018	2019	\$45.00	\$63.00
	6000669	Joke's Over	2018	2021	\$22.50	\$31.00
	6000667	Green With Envy	2018	2021	\$28.50	\$39.00
	6000670	Bringing The Bones	2018	2018	\$25.00	\$35.00
	6002303	Moving With Magic	2018	2019	\$27.50	n/a
	6002304	Rest In Peace, 2018 (lighted accessory)	2018	2018	\$99.00	n/a
	6001737	Graveyard Ghost Dance (animated)	2018	2019	\$130.00	n/a
	6001743	Backwoods Tool Shed	2018	2019	\$35.00	\$47.00
	6003170	Eternal Love	2019	2021	\$30.00	\$40.00
	6003169	Day of the Dance Festive Dance (animated)	2019	2021	\$125.00	\$170.00
	6003165	You Look Batastic!	2019	2021	\$30.00	\$40.00
	6003168	Lighting Wicked Waxes	2019	2020	\$35.00	\$47.00
	6003167	Dalton's Menagerie of Friends	2019	2019	\$32.50	\$45.00
	6003225	Bucket o' Bits to Go, set of 2	2019	2019	\$32.50	\$45.00
	6003219	Bat Kite Fright (animated)	2019	Discontinued	\$70.00	\$95.00
	6003166	No spell Unlearned	2019	2019	\$23.50	\$32.00
	6003299	Day of the Dead Shrine	2019	2020	\$40.00	\$55.00
	6004820	Ice Scream Ice Cream Truck	2019	2021	\$65.00	\$90.00
	6004823	I'll Make You Scream for Ice Cream	2019	2021	\$28.50	\$39.00
	6004337	Rest in Peace, 2020	2020	2020	\$80.00	\$112.00
	6007276	Rat Catcher	2020	2020	\$30.00	\$40.00
	6005486	Scary Treats For A Sweet	2020	2021	\$32.50	\$45.00
	6005487	Witch A Brewin'	2020	2021	\$30.00	\$40.00
	6005483	Haunted Watchman	2020	2021	\$25.00	\$35.00
	6005488	Celebrating Our Lady of Guadalupe	2020	2021	\$35.00	\$47.00
	6007275	You Str What You Eat	2020	2021	\$35.00	\$47.00
	60017273	Red's Roach Coach	2020	2021	\$75.00	\$100.00
	6007644	Beware of Hitchhikers	2021	Current	\$70.00	\$95.00
	6007163	Pennywise & S.S. George	2021	Current	\$37.50	\$50.00
	6007650	Tubing S.O.S.	2021	2022	\$32.50	\$45.00
	6007648	A Cryptic Cave Mystic	2021	Current	\$42.50	\$57.00
	6007647	Snoopy's Treat, No Tricks	2021	2022	\$40.00	\$55.00
	6007649	Day of the Dead Remembrance	2021	2021	\$36.50	\$49.00
	6007642	Day of the Dead Crypt	2021	2021	\$100.00	\$130.00
	6007792	Crow Hag	2022	Current	\$26.50	\$34.50
	6010451	Halloween Crows, set of 10	2022	Current	\$17.50	\$23.00
	6010465	Rooted Raven Tree	2022	Current	\$18.50	\$24.00
	6007786	If It Doesn't Kill You …	2022	Current	\$30.00	\$39.00
	6009845	Medusa, The Gorgon	2022	Current	\$28.00	\$36.00
	6009778	Rain Nor Sleet Nor Fright Of Night	2022	Current	\$34.00	\$44.00
	6007790	Calming The Bees	2022	2022	\$42.00	\$54.50
	6010459	Happy Pollinating	2022	2022	\$18.50	\$24.00
	6010461	Bee-Friendly Signs, set of 3	2022	2022	\$32.00	\$42.00
	6010460	Honey Bear QC Testing	2022	2022	\$16.50	\$21.50
	6010450	Imposing Monuments, set of 3	2022	Current	\$38.50	\$50.50

			_		
601452	Mummies Parade, set of 2	2022	Current	\$30.00	\$39.00
6007784	Mommy Treats	2022	Current	\$37.50	\$49.00
6007782	R & R Before The Witching Hour	2022	2022	\$30.00	\$39.00
6010468	Haunted Mansion Gate	2022	Current	\$98.50	\$128.50
6010469	The Singing Ghosts, set of 5	2022	Current	\$42.50	\$55.50
6011473	Scary Witch Tree	2023	Current	\$38.00	\$51.50
6009776	Madame Laveau	2023	Current	\$24.00	\$32.50
6011443	Buddy's Ghost (Lighted accessory)	2023	Current	\$36.00	\$48.50
6011475	Scary Skeletons Throne	2023	Current	\$16.50	\$22.50
6011477	Scary Skeleton Steps	2023	Current	\$10.00	\$13.50
6011476	Scary Skeleton Walls, set of 2	2023	Current	\$25.00	\$34.00
6011478	Scary Skeletons Tree	2023	Current	\$25.00	\$34.00
6011445	The Mad Knight of Calvari	2023	Current	\$28.50	\$38.50
6011449	Eat More Brains	2023	Current	\$22.50	\$30.50
6011441	Explosive Skullduggery	2023	Current	\$42.00	\$56.50
6012283	Matriboney	2023	Current	\$32.50	\$44.00
6011447	Go Polars!	2023	Current	\$30.00	\$40.50
6011446	Polar Royalty	2023	Current	\$140.00	\$188.50
6012286	Corn Creeper	2023	Current	\$28.50	\$38.50
6011439	The Squirting Frog Trick	2023	Current	\$28.50	\$38.50
6011437	X Marks the Spot	2023	Current	\$40.00	\$54.00
6012299	Lit Trick or Treat Lane Entrance	2023	Current	\$100.00	\$134.50
6012288	Rex Needs More Candy	2023	Current	\$34.00	\$46.00
6012287	Family Halloween Pups, set of 3	2023	Current	\$38.00	\$51.50
6011474	Scary Cleanup	2023	Current	\$32.00	\$43.50
6012280	Vintage Pumpkins	2023	Current	\$15.00	\$20.00
6012289	Double Trouble	2023	Current	\$25.00	\$34.00
6012284	Wolfman's Howl	2023	Current	\$25.00	\$34.00
601306	Sasquatch Silhouette	2023	Current	\$16.00	\$21.50
6012295	Scary Stumps	2023	Current	\$30.00	\$40.50
6011468	Haunted Skull Tree (lighted)	2023	Current	\$70.00	\$94.50
6011469	Udderly Unbelievable (animated)	2023	Current	\$75.00	\$101.00